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Topic:- General Studies

1) Which is not a font style?/ 59 % @ 319 T® Wi-e wIsd T8l 82
1. Superscript/ IR f&py

2. ltalic/ gcferd

3. Regular/ W
4. Bold/ 9ITS

Correct Answer :-

« Superscript/ Jux f&pp

2) CUO + X — CuSog4 + H50. Here (X) is:/ CUO + X — CuSog4 + H>0. T&T (X) -
1. CuSoy4

2. HNO3

3. HCI

4. HySO4

Correct Answer :-

e HySO4

3) Pointing to Hari, Seema says. "He is the grandfather of my eldest son Mahesh. " How is Hari
related to Seema? / & B TR SURT Hd §C AATHEdl @ " N IS A, IRUP GO 2 1 88, T IAHA
TEfRa g ?

1. Brother-in-law / ¢&R
2. Father / fUar

3. Uncle / dM™IT
4. None of these / T ?ﬁ'sc Tl

Correct Answer :-

« None of these/%ﬂﬁﬁaﬂﬁﬂ'ﬁ

4) 4 days before yesterday was Friday, then what day of the week will be day after
tomorrow?/ §1d §U @ & IR {3 UgA YehaR YT, &Y 3 T Ha & d1G aTaT ¢ TwTe $T BI=-HT fa g

1. Monday/l’ﬁ'ﬁlaﬁ



2. Wednesday/qd4dR
3. Saturday/X AR

4. Friday/[shdR
Correct Answer :-

o Friday/[hdR

5) DIRECTIONS: Find the related number from the given alternatives./ f3%1: fRu e faweal d
Heiftrd H@m g a |

8:?::12: 144

1. 56

2.51

3.64

4. 50

Correct Answer :-

6) DIRECTIONS: Solve the number series given below./ﬁjcf?r: Fﬂ%?ﬂﬂﬁ'\‘l’@T ot B gA B |
6, ?, 16, 21, 26

1.6

2. 11

3.7

4.8

Correct Answer :-

7) DIRECTIONS: In the following question, a series of figures are given and these can be into
classes. Select from amongst the alternatives one set of groups into which the figures can be

classified./ &z fFAE uy ®, snofaal @) v g@ar & i 31 e & 3 T9gl & U Gu=d &1 994 ¥ o
rpfeal @t aiffepd fpar s aHar 1

LA|H B AR LB ®

ey LE) 3 5] 5 (6} {7} %) 19}

1.5,1,9; 4,7,6; 2,8,3
2.2,7,4; 6,3,8; 9,1,5
3.6,3,8; 7,2,9; 4,5,1
4.6,9,5;,7,2,4;,1,7,4
Correct Answer :-

- 2,7,4,6,3,8;9,1,5



8) DIRECTIONS: Solve the number series given below. /= ﬁ%ﬁﬂ%ﬂ'@ﬂ ol B g B
10, 18, 26, 42, 58, ?

1. 64

2.62

3.60

4. 66

Correct Answer :-

9) DIRECTIONS: Find the missing term in the given matrix./ fdzr: ﬁﬁﬁﬁﬂﬁwmm
Gadl

8 (17|33
12|5 |29
10137
1.23
2.43
3.33
4.9

Correct Answer :-

10) DIRECTIONS: Find the related group of letters from the given alternatives./ fAadr: fegw
fawe # & A& sreR &1 9g @il |

AFMV : DBPR :: ? : FIJK
1. CMGN
2. CMGO
3. CMFO

4. CMGP

Correct Answer :-

« CMGO

11) In a class, according to the names of boys, they are seated alphabetically. Gaurav and
Saurabh have 14 boys between them. If Gaurav is 37t from the bottom. Saurabh would be at

what position from the top?/U® H&T ¥, 3T qUiATAT F TR TSP I A1 & FJIAR 9 ¢ | T 3R
URY & 919 14 9s& &1 9 TR 9 A 373 QUM R 31 ORY, SR A B A JAH W §RI?

1. Can't be determined/31d 7Tg! foaT ST Tabdr
2. 28t /2847
3,22"d/20q7

4, 25th/2 551



Correct Answer :-
« Can't be determined/3JTd Ta! [HdT ST bl

12) A cistern has a leak which would empty it in 8 hours. If a pipe is turned on into the cistern,
then leak will empty the cistern in 12 hours. Find the time taken by the pipe to fill the cistern,

if leak is closed./ U ¢ <@ $I 8 He A Wel B a1 21 Al TH =7a St 1 | U ¥Rl €, Gam &) Y D¢ bt
P 12 4 T WIell ST 81 T D WA & 7 b gIRT R a1 99y 719 B, e DS ag 82

1. 41 hours/ 41 ©¢
2. 36 hours/ 36 He
3. 24 hours/ 24 b

4. 20 hours/ 20 He

Correct Answer :-
e 24 hours/ 24 He

13) If in a certain code, RAMAYANA is written as PYKYWYLY, then how MAHABHARATA can be
written in that code?/ afe f&=i fAfia e #, RAMAYANA & PYKYWYLY for@d €, af St pe d
MAHABHARATA &1 &4 ferar simemm?

1. KYFYZFYPYRY
2. MCJCDICTCVC
3. LZGZAGZQZSZ
4. NBIBCIBSBUB

Correct Answer :-

« KYFYZFYPYRY

15) Ram is facing North-West. He turns in clockwise direction by 90°, then 180° in the anti-
clockwise direction and again 90° in the same direction. In Which direction is he facing now?/

I IR-ufdy fa=n ¥ g fd gu 81 g <fémmad fa=m o 90° A gsar 8, Y 180° amumadd fa=m ¥ 3w fFr 90°
I o= A gear 21 39 98 fw iR @ frd gu @2

1. West/ gy



2. South-West/ &femor-ufgm
3. South-East/ Gfémor-qd
4. South/ af&or

Correct Answer :-

. South-East/ gf&mr-gd

16) Find the correct group of signs to solve the given equation./feT 7T Ifierv &t g6 H1 & forw
wét agE e gel

24 * 16 * 8 * 32
1.+ - =
2% + =
3.-+ =

4.+ - =

17) The difference between CI and SI for 3 years at the rate of 20% p.a. is Rs.152. What is the
principal lent?/20% aIfY® o #1 a3 | 3 T BT Tehqieg saTol 3R JTHURUT TS BT 3R & 152 & | TAUS FT 8?2

1. None of these/3H ¥ &S g
2.3 1200
3.3 1187.5

4.% 1155

Correct Answer :-
« 31187.5

18) The price of a product of a company increases by 10% and the turnover increases by 10%.
What is the change in quantity sold?/ T®% &U- & IUTG B ST 10% A 9 WTdl 8, o oo R &) i d
10% P gfF Bt 31 IE FI 3! # fFa % H1uRad7 82

1. 8%
2. No change/ﬁ'scqﬁﬂ?f:[ﬁ@ﬂ%
3.10%

4. 20%

Correct Answer :-

« No change/®'s URdd 78l §ldT &

19) The average of 13 papers is 40. The average of the first 7 papers is 42 and of the last seven
papers is 35. Find the marks obtained in the 7t" paper./ 13 faugl &1 3« 3i® 40 g1 vyw 7 fawa) &1 3t
3P 42 7 3R sifaw 7 fawai &1 oiwra oi 35 8, 7 o fawa & wr ois Jma +¥ |

1. 39



2. 38
3.19

4. 23

Correct Answer :-
« 19

20) The sum of one-half, one-third and one-fourth of a number exceeds the number by 12. The

number is?/U% T&IT & 319, TH-f08TE 3R TH-AUTE ST AT IBT 12 3if® g1 T= J1d P |
1. 90

2. 144

3.154

4.174

Correct Answer :-

. 144

21) The sum of the squares of 3 consecutive positive numbers is 365. The sum of the numbers is?/
T FURTT TS ST & T BT ART 365 & | TR BT AT &:

1.33
2.30
3.36

4.45

Correct Answer :-

22) The radius of a circle is twice of the side of a square of area 196 sq.cm. Length of a rectangle is
twice of diameter of the circle. What is the perimeter of the rectangle, if its breadth is half the

length of the rectangle? /T gd @ a1 T& 196 o A7t &pat ara o7 Pt Yoi B S B | T S oY avTs,
g9 & A B SR B 1 A 3mad &) DeTs, TP avarg ot 3meht B, O 3mad w1 ufRkumy T ghm?

1. 244 cm/244 9+
2. 336 cm/336 I
3. 168 cm/168 I+

4. Cannot be determined/3JTd gl fosaT &I b dT

Correct Answer :-

« 336 cm/336 94

23) Rekha sells a DVD player to Liza at a profit of 15% and Liza sells it to Megha at a profit of 25%.
If Megha pays 2,875 for it, then find the cost price for Rekha./ W, t-ﬂwaﬁqa? DVD W 15% dTH TR
Felt B TUT AT S BT B 259% AT W At 311 A Tar I9F o 22,875 FT YA Fedl 8, O X1 FT 69 Ged [0
FIfoU|

1.3 1,500



2.3 1,800
3.31,900
4.3 2,000

Correct Answer :-

« 22,000

24) From the given alternatives select the word which cannot be formed using the letter of the

given word. /3T ¢ faweul & A 3W e &1 TG H¥ O AT T e & ol T IUANT Hb AL I S HHT|
OBSTETRICIAN

1. RETAIN

2. SIREN

3. SOBER

4. TERMITE

Correct Answer :-

. TERMITE

25) At what distance from a concave mirror of focal length 10 cm must an object be placed in order that an

image double its size may be obtained?/T® 3/@ad guur fraa®t wiew gt 10 A B, & WA avg foraeit g8t wr v
<, forad ufaferd, avg & SR SR @1 fal-

1.10 cm /10 Gt

2. Either 5 cm or 15 cm /5 #7115 T
3.15 cm only/ % 15 I W

4.5 cm /5 I

Correct Answer :-
« Either 5 ¢cm or 15 ¢cm /5 991 a1 15 At

26) What is meaning of FORTRAN?/BIgI Sgadl &-

1. Formula trainfcﬁTliFIT |
2. Formula train networkflﬁﬂi('ﬂ E’:r BELD

3. Formula translation/STHdT € RITRM
4. Formula translation network/tFITiﬂT E;Hﬁ'flﬁ Jeadh

Correct Answer :-

. Formula translation/®THaT ¢RICRM

27) DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance from commonly known facts.
Read the conclusions and then decide which of the given conclusions logically follows from the given
statements./ fE=1: I o T 9y ¥, 50 $YF 3R ITF A Fo ey 3w 7w 31 U fw T U= & W e
8, Yd 8 3 gdya at A i ydid 811 eyl 3 ufe 3fik fpR ag FifvTe & #a-a1 fAeey 2w e sy &1 adba
T & STE Yl 2



Statements:/ $YH:

All Indians are Americans./'\‘ﬂ-ﬁ YR &Faﬁiﬁ%'l

All Americans are Pakistanis./ﬂ*ﬁ&ﬁﬁ?ﬁmﬁ"\w——ﬁ%'l

No English is Americans./ @%Hﬁﬁﬂﬁﬁﬁﬂ'{ﬁ%l
Conclusions:/ e

I. No English is Pakistani./ @13 30w uIfrearl 781 81

II. All Indians are Pakistanis./ WY 4R gt 21

II1I. Some Pakistanis are English./ WWG@IW%I

IV. No Indian is English./ ﬁ-{mrmﬂwraa%"r%

1. Only either II or IV follows/ %ad AT al I1 TT IV T 3RV Hd §
2. Only II follows/ Had IT T TRV Hd §

3.0nly II and 1V and either I or III follows / &ad II 3R IV 3R AT A I TT 111 3FJAR0T Hd &
4. All follows/ Tt BT I IA §

Correct Answer :-

. Only II and IV and either I or III follows / %ad I 3R IV 3R 1A I AT 11 3TERI B &

28) LCD is:/ TeRiiSt 8:

1. Liquified Crystal Display/ff@wss fhed e
2. Liquid Crystal Display/fdifés fored fowat

3. Liquid Crypto Display/faif@s forp! feeat

4. Liquid Cryptotis Display/faifévs saucifey fewat

Correct Answer :-

« Liquid Crystal Display/fiiférs foeea feet

29) <3 T IHARVI I R :
1. gGl
2. HEY

3.dld
4. %P3

Correct Answer :-

30) {Re’ BT UGIgaI A8l & :
1. TR



2. 9ldq
3. olelo]
4. TRIST

Correct Answer :-

31) ‘RIS Vg IGTERVI 3 :
1. AT TG BT

2. UddIdd Yy Dl
3. S dIdidd YA D]
4. 7[UIdTd b YT ]

Correct Answer :-

o SAdldldd Y bl

32) gfg Ui ST A w3t g — AT g
1. 8 IdIdh
2.%‘@%’%
3. Y ddrdad
. faferaras

Correct Answer :-

33) YPHW’ UG H AAN & :
1. STITHTG

2. T8

3. §gsilie

4._8;_9-

Correct Answer :-

34) q YR & AN PUYR &'— I H Y 8
1. TaRiyor geeht
2. I3 deeht



3. ga-TH Teet
4. fopar Teeht

Correct Answer :-

. fowor Heeft

35) JRTAT RR TR ISHT— YETaR HT AR § :
1. YT HRAT

2. 3o gt

3. PldTgd FAMI

4. 98 TR HAT

Correct Answer :-

. 3ad g4t

Correct Answer :-

. TgTe! fgdl & siqeia

) fafafa A g asa g :
1. TET 3! AN Uy A

>, AHT &1 il 3R IS B
3Wﬂ1ﬁﬁﬁﬁ?ﬁ‘ﬁﬁﬁ%l
4.ff?‘ﬂ7-”-ﬂ_ﬁg_§l

Correct Answer :-

. 3! Arareh oot # et 7
38) FHifPa A aga T 8 :
1, SITH

2.q&ﬁ

3. B



4. o[

Correct Answer :-

. SitH

39) fFifhPa A SIS V= 7 :
1. 90l

2. 3ad It

3. 35dd

4, IITQCT?IT

Correct Answer :-

. Iad gt

40) fgifera & Wl Weg-FU 7 :
1. AfOr-Hoft

2. ARIY-GRET

3. S[3TT-S31T

4. 3aa gyt

Correct Answer :-

. 3ad gt

a1) fagifepa o farm g di 8
1. SHE S (g
Z.Wﬁlﬁ
3%@@%%’5’
4.@%%

Correct Answer :-

. RIS %

42) 31T Treg 31 T IMTRA THI 3
1. Ticlieh
2. HAdd

3. Y9
4. TS



Correct Answer :-

43) TS ATYT Gidaary {d g & f5a srads 9 d6fia g :
1.‘HR%§§’T
. BATATGRR BT

3. fgadi gn

4. 3AXHY DIl

Correct Answer :-

. BAEIGRR HTd

44) Former Speaker of the Madhya Pradesh Assembly Sriniwas Tiwari who passed away
recently was a member of the ./ T v faurrayT & qd srwae fiftrar faarst, s dt o
fAEaige e, & HeH Y|

1. Samajwadi Party / JHTTard; aref

2. Congress / N

3. Bahujan Samaj Party / meﬁ
4. BIP / droidt

Correct Answer :-

« Congress / &9

45) The tourist places of Rani Durgawati Museum, Dhuandhar Falls and Madan Mahal Fort in
Madhya Pradesh are located at . / asg weR ¥ It guifard) wugTay, YSiuR wieh 3R Hed Ugd
el F i@l

1. Amarkantak / 3R&cH
2. Jabalpur / SIdelqR

3. Omkareshwar / 3R
4. Maheshwar / Tg%R

Correct Answer :-

« Jabalpur / SISeIYR

46) Eye lens is a/ 3@ ®139 @8-
1. Plano convex lens/ddd 3«d a9
2. Plano concave Iens/?l?ﬂl'r 3add a9
3. Double convex lens/fg Icd d@

4. Double concave lens/fg 3fadd a9

Correct Answer :-



« Double convex lens/fg 3ad o9

47) The Patal Pani in Madhya Pradesh is in the district of ./ e U A urareryT=t
Rad g

1. Indore / &R

2. Jabalpur / SdeqR

3. Sidhi / et

4. Chhatarpur / 9dXQR

Correct Answer :-

« Indore/ Ea?

48) Global warning focuses on an increase in the level of which gas in the atmosphere/"‘?ﬁﬁﬁ

aiftfr argdisa & frw e & WX 9 9fF gufd 2-
1. Ozone/ 3\

2. Carbon dioxide/ WWG{\W@

3. Nitrous oxide/-TScH IS S

4. Sulphur dioxide/TehR SASHRIZS

Correct Answer :-
. Carbon dioxide/ ®Ted SATRIES

49) The process of electrolysis is used for obtaining such metals which are- /ﬁq;ﬁu@aﬁﬁm
Fe F o fagea sraue faftr sro=ms ot 31

1. Moderately reactive/drdal by
2. All types of metals/IR} 418

3. Highly unreactive/3<d ffeaRita
4. Highly reactive/3=d Ufdfshar=iid

Correct Answer :-

« Highly reactive/3=a ufdafeamiia

50) 111
The marks obtained by Suresh in physics, chemistry and math’s are in the ratio 2 3 3 If
his total score is 930, his marks in physics are:/ I gRT Wifa®!, T ARA 3R 7fora & rffa i &1

1 1 1
JUEZ 3 52 Ul Iud o WIwi® 930 2, ) W & arfdfa s &:
1. 300
2.420
3.450
4.350

Correct Answer :-



51) Linux is a(an) Operating System./ &iHad T& TR RIen g1
1. Closed Source/ &g 9id

2. Open Source/Eg,FlTQ;ﬁH

3. Mac / O&

4, Sharedware / SF<93<

Correct Answer :-
« Open Source/ gall Ald

52) What is the rural population of Madhya Pradesh as per the Census 2011? / S-{UHT 2011 ¥
TR HeA Y Bt ITHIOT STt T 72

1.82.3%

2.68.4%

3.72.8%

4.78.5%

Correct Answer :-

e 72.8%

53) MS Outlook is an/ MS 3T3cTF 3 :
1. Presentation format/ ssicem e

2. Spread sheet/ =iz sfiz

3. Word processor/ 3 W&ax

4, E-mail client/ -3 #=re

Correct Answer :-

« E-mail client/ -9 F=r3e

54) Peripheral Component Interconnect, [PCI] is a-/ ﬁﬂﬁﬂﬁﬂ"@ﬁ?@?ﬂﬁﬁa [PCI] g-
1. System bus / freew T&@

2. Screen resolution/ sfim Rstegem

3. Graphic card/ i #1E

4, Peripheral card / e #1e

Correct Answer :-

« System bus / frew a9

55) The reserve characters that cannot be used for a variable of MS Excel document are:/

SMRFard HY¥ae St MS Taad & o= & fore yanT g1 fore o 9eq, &:
1.\



2..
3.&
4. All of the above / IWRiad I+t

Correct Answer :-

« All of the above / SWRad T+t

56) The common name for the crime of stealing passwords is ./ WW%M%%
eI #-

1. None of these/ =¥ & #r¢ &t
2. Identity theft/ smefedt 9w
3. Spooling/ =g

4. Spoofing/ =qftr

Correct Answer :-

« Spoofing/ =gft=r

57) In the case of renal failure and uraemia, which one of the following is employed./ﬂiaﬂ

faweran ok gifirr & FAefafaa & @ 59 Suai & arr srar 81
1. Lithotripsy/ferifeeet

2. Kindney replacement/fst Read<

3. Kidney removal/f&&-t geamr

4. Haemodialysis/%ﬁmm

Correct Answer :-

« Haemodialysis/gAlsmafafg

58) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

This group is (a)/ the least likely (b)/ of the four to win. (c)/ No Error (d)
1. (b)
2. (d)
3.(a)
4. (c)

Correct Answer :-

59) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

The Oscar ceremony (a)/ take place (b)/ in March every year.(c)/ No Error (d)

1. (b)



2.(d)
3.(a)
4. (c)

Correct Answer :-

60) Other than Madhya Pradesh in which other state has the Union Government of India
launched the Ecosystem Service Improvement Project? / U W=l & ATAl 1N 30 I H HIRA
WPHR A nIRfRAfI &3 JurR uRaierr 3= @1 82

1. Chhattisgarh / SRITG
2. Maharashtra / HERTY
3. Gujarat / TSRRId

4. Rajasthan / ISR

Correct Answer :-

« Chhattisgarh / S<Te

61) Other than Madhya Pradesh, which state will benefit from the Ken-Betwa River linking

Project? / U UST & 3(aTdl, fhT Ioy &I $-94dT <] Bl Sits &t ufvaie=T J ary frerm?
1. Chhattisgarh / BT

2. Maharashtra / HERTY

3. Uttar Pradesh / TR UGXl

4. Rajasthan / ISRYTT

Correct Answer :-
. Uttar Pradesh / SR Uel

62) In a food chain, generally maximum numbers are those of /WTe WA §, T SATGT H& | gld

z-

1. Tertiary consumers/ﬂ?ﬁ%@qlﬁﬂ
2. Producers/3digd

3. Primary consumers/URfN& IUHIaT

4. Secondary consumer/fgdia® IuHIadT

Correct Answer :-

¢ Producers/3dicdh

63) Which of the following fractions is the smallest? /9 & 3 &9 a1 firg <0 82
ﬁ
1. 52

17

2. 26



3.13

37
4,51

Correct Answer :-

64) Which of the following is a security software?/mﬁﬁﬁﬂwwmﬁﬁm%?
1. Encryption Software/ uafwem aivea=<

2. All of the above/ 3w st

3. Firewall software/ wrara atfeaa

4. Antivirus Software / tdamE=H Tiveaa¥

Correct Answer :-

« All of the above/ 393 Tsft

65) Which of the following is a mobile Operating System?/ fFafef@d & ¥ &9 91 U Wiarsa AfafeT
Reag?

1. All of the above/ IWIad gt
2. Symbian/ ff@ag=
3. Palm Operating System/ UTH 3iTRfeT ReeH

4. Windows RT / fd8IsT RT

Correct Answer :-
« All of the above/ JuRTad Faft

66) Which of the following gharanas did Baba Allaudin Khan belong to? / fFrafafaa # Q s=-a1
TR I19T AL T o Jafra 412

1. Indore Gharana / ﬁ?W

2. Bhopal Gharana / TS ORTAT
3. Gwalior Gharana / TaTfeRIR &R
4. Maihar Gharana /fIE?ER'Fﬂ

Correct Answer :-

« Maihar Gharana /'EIEQ‘FMT-H

67) Which of the following is a redox reaction/3TH § &9 Wt YsTaw ififohar g-

1 NaOH + Hel — Nacl+ H,;0

2. CaCOz — Ca0 + Co,

3 Ca0 +2HCL - CaCl; + H;0



4 Ha+ Cly = 2HCI

Correct Answer :-

., Hp+ Cl - 2HC

68) Which other states has Madhya Pradesh partnered with in the Ek Bharat-Shreshtha Bharat
Yojana? / U HRA-3 YR TIoHT H AU & 1Y fory 7y &t urfigrdt g8 @2

1. Sikkim and Assam / fafd®d iR sy
2. Tripura and Mizoram /ﬁ%ﬁﬁ?ﬁﬁh@
3. Nagaland and Manipur / RIS 3R AOMQR

4. Rajasthan and Punjab / IS 3R USTE

Correct Answer :-

. Nagaland and Manipur / AFTAS 3R AR

69) Which one of the following does not secrete any hormone?/sqﬁﬁaﬁq?lﬁqwﬁﬁqﬁm

z-

1. Testes/cfRed

2. Ovary /GhTJR(T

3. Spleen/Tdi

4. Thyroid/?JTCITI'%_s’

Correct Answer :-

« Spleen/IeH

70) Which of these words can be used as both verb and noun?
1. Inspire

2. Remember

3. Suppress

4. Blame

Correct Answer :-

« Blame

71) Madhya Pradesh has become the state in India to achieve door-to-door garbage
collection in all areas under urban bodies. / g3 A& & 3iavid Gt &= A gR-GR F=RT SIS UTed
P & U Ay U URa o I T AT EI

1. Fourth / ?Iﬁ?f
2. First / UYH

3. Second / fgda
4. Third / g

Correct Answer :-



« First / UYH

72) In which generation does the segregation of allelic phenotype takes place/ﬁ'ﬂﬁf@ﬁﬁﬁ

a0t & waftre wiklersy wafta 31

1, F2

2. Fo

3. Fs

4. b

Correct Answer :-

73) In which month was the ‘Single Click Pension Delivery’ scheme launched in Madhya

Pradesh? / A W= ¥ 'Riviar fFae A3 fferadt g fra wdia d 3= g8 2
1. December 2017 / fadwR 2017

2. January 2018 / S-aRl 2018

3. November 2017 / 9dWR 2017

4, October 2017 / 3{dgsR 2017

Correct Answer :-
« October 2017 / 3fagak 2017

74) In which of the following places of Madhya Pradesh is one of the Jyotirlingyas of India

situated? / 79 W & Fufifad wiHl # & w8 WRa § fRya safafi & 4 Te 82
1. Both Omkareshwar and Maheshwar / &I SRR 3R Tey

2. None of these / Eﬁﬁ?ﬁé:@

3. Omkareshwar / 3R

4. Maheshwar / Tg%R

Correct Answer :-

« Omkareshwar / 3FHRYR

75) 1MB is ---Kilo bytes./ 1 MB---f&dl 913¢ & TR g1 8|
1. Both (a) and (c)/ (a) 3T (c) ==t

2.1024

3.2

4,210

Correct Answer :-

- Both (a) and (c)/ (a) ¥ (c) ==t



76) Multiple fission occurs in - /U®IY® fAGS UmaT ST 81
1. Spirogyra/STSIRTRRT &
2. Euglena /gl &

3. Hydra/gIgI &
4. Plasmodium,/@raiead &

Correct Answer :-

« Plasmodium/=aHifoud &

77) There electric bulbs of rating 60 w each are joined in series and then connected to electric
mains. The power consumed by these three bulbs will be /I fag,d 3w, At Afdd 60 w (@
F1) B, T A0ft A e fagea A | Sits faar omar 81 377 i) geal gR1 SuvhT &) it wfda @ -

20
3w

2.180 w
3.60w
4.20 w

Correct Answer :-
« 20w

78) Who had constructed the Fatehgarh Fort in Bhopal? / Wﬁmﬁﬁmwwm
Yr?

1. Fateh Khan / Uﬁ'&'@ﬂ?
2. Fazl Ali Khan / ®Sd 3{dl @<

3. None of these / gqﬁ@[aﬂs‘:@

4. Dost Mohammed Khan /Eﬁﬁﬁgﬂq’c{“@ﬁ

Correct Answer :-
« Dost Mohammed Khan /WWW

79) The functional group of aldehyde is:/Uf&Sg1gs &1 fhuriia Wz 8-

1
1.-€=0
2. -CHO
3. - COOH
4.-COOR

Correct Answer :-

. -CHO

80) The default Print mode for MS Office is:/ MS 3iiftbd & forg fewree ficAIS § -

1. Web Layout/ 3 & srse



2. Full screen/ %= =fim
3. Landscape/ d==ra

4, Portrait / 9ré=

Correct Answer :-

« Landscape/ d=ea

81) A sentence with an underlined idiomatic expression is given. What is the meaning of the
idiomatic expression ‘have something under your belt’ in the sentence given below?

Basic computer skills are a good thing to have under your belt.
1. to have learned something that is of no use

2. to have learned something that might be an advantage in the future
3. None of the above

4. to eliminate something that will be of no use in future

Correct Answer :-

« to have learned something that might be an advantage in the future

82) The Basdeva singers of Madhya Pradesh are known for wearing coloured
clothes. / A0 YW & gHeAl TUD TN HUS Ug4 WH $ I oA w1 €1

1. Red / ©Idl

2. Yellow / i)

3. Saffron / W

4. Green / w

Correct Answer :-

« Yellow / L]

83) Out of the given options, choose the most appropriate one to fill in the blank.
must not praise self.

1. One’'s, one

2. One’s, his

3.0ne’s, it

4. One, one's

Correct Answer :-

« One, one's

84) The long file names are not supported in Operating System./?ié’fﬂﬂ%ﬁ’f%qm
SToRfeT Reew & |uid =18t forg 9Ima €1

1. None of these/ﬁ'ﬁf I ﬁi -‘-@'

2. Windows 8/ fdei=T 8



3. Windows NT / fdSIsT NT

4. Windows-95/ derst - 95

Correct Answer :-

« None of these/%‘vlﬁ J aﬁ'ic 8!

85) The first non-Congress Chief Minister of Madhya Pradesh came in the year ./ HA

TS & UYH R-HRRN gt a9 § omd A
1.1970
2.1967
3.1969
4.1968

Correct Answer :-
« 1967

86) A Sentence is given with blanks to be filled in with appropriate words. Four alternatives
are suggested. Choose the correct alternative out of the four.

The burglars in the kitchen window.

1. penetrate, among
2. evolve, beneath
3. broke, through

4. pierce, besides
Correct Answer :-

« broke, through

87) If the under given alphabets are arranged in proper sequence we get the name of a well-
recognized as per the Standard English vocabulary.

[M,R,D,C, M, A O, A]
1. Country

2. Planet

3. Spice

4. Currency

Correct Answer :-

88) In MS Excel, the individual record name for a chart over the canvas is given by a/ MS TRd

#, $99 R A1¢ P forg auferara Repis Aw fearsman e -
1. Cell/ &= g
2. Legend/ =St gman

3. Title / et=ges g1



4. Label / @5« g1

Correct Answer :-
« Legend/ ST g

89) A, B and C enter into partnership. A advances one-fourth of the capital for one-fourth of
the time. B contributes one-fifth of the capital for half of the time. C contributes the remaining

capital for the whole time. How should they divided a profit of 11402/ A, B U4 C 3TU¥ # ATgigR}
1 1 1

FA Y| A T Goh &1 4 USh, 4wwg F R amar 2| B oa goht &7 5 Uoh, o) g9 F Rw e 2] Ivush c, W
UG & fIe e 8] 21140 & GATE F 3 3y H iy avg area?

1.2100, 160, ¥880
2.3110, ¥140, 3860
3. 3120, 150, 3840

4.3140, %170, %830

Correct Answer :-
« %100, %160, %880

90) An atom has an electronic configuration 2, 8, 5. To which of the following elements would
it be chemically similar? /U@ WUV T WA fA=IRT 2, 8, 5 71 Fafufaa & & o9 waw, S9s ay
IS JHHAT S=ITaT B |

1. Na (11)
2. Ar (18
3. F(9)
4.N(7)

Correct Answer :-

91) The ratio of income in two consecutive years is 2 : 3 respectively. The ratio of their
expenditure is 5 : 9. Income of second year is Rs.45000 and Expenditure of 1st year is
Rs.25000. Savings in both years together is? /FHTIAR &l auf & 319 HT 3UTT 2 : 3 8 3R Td &7
U 5 : 9 §| Al g af & 3Ma %, 45000 B 3R yuyH af 1@ ¥. 25000 2, @ G 96 B A TU9T R 3?2

1. Rs.6000/%. 6000
2. Rs.4000/%. 4000
3. Rs.7000/%. 7000

4. Rs.5000/%. 5000

Correct Answer :-

« Rs.5000/%. 5000

92) A grocer buys two kinds of wheat at ¥15.00 and ¥9. 50 per kg, respectively. In what ratio
should he mix wheat so that by selling the mixture at ¥16.00 a kg, 25 percent may be

gained?/ T® {1 ATURY & YHR & g HHM: ¥15.00 3R 29. 50 Ufd fFr. M.Ft R A @iear g1 A 3= fra
3uTa § e aifga aifds frsor 3t 216.00 ufd .71, Y ¥ & 999 W 25 ufa=a s1a19 81?2



2.3:2
3.2:5
4.2:1

Correct Answer :-
¢« 3:2

93) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

Some beggars are neither poverty-stricken nor homeless.

1. No improvement
2. neither poverty-stricken or homeless
3. neither poverty-stricken but also homeless

4. either poverty-stricken nor homeless

Correct Answer :-

« No improvement

94) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

Our soldiers were better drilled then that of enemies.

1. then those of the enemy
2. then that of the enemy
3. than those of enemies

4. No improvement

Correct Answer :-

« than those of enemies
95) Where is the Madhya Pradesh Tribal Museum situated? / W0 UxT 3nfeart @ugrey wgi fRua g2
1. Indore / &R

2. Betul / a—g’ﬂ

3. Bhopal / e

4. Gwalior / TTfeRR

Correct Answer :-

« Bhopal / T



6

Rajan got married 8 years ago. His present age is > times his age at the time of his marriage.
Rajan's sister was 10 years younger to him at the time of his marriage. The age of Rajan's
6

sister is?/ 8 a¥ Yd X1 FT aTE §oiTI ST a9y, Rate F wwa 35 g 3t SR B 1 19 9t 95 S
faare & 9w IUH 10 a9 B F1 5 F 9849 F adw= g AT R?

1. 36 years/36 d§
2. 38 years/38 9%
3. 32 years/32 G

4. 40 years/40 ay

Correct Answer :-

« 38 years/38 ay

97) When a fuse is rated at 8A, it means/U% Wd 31 &3 8 TAIRR 8, 39@T 314 3-
1. It will work only if current is 8A/1T6’ﬁﬁf3 8A HTE‘TWW'IT

2. It will burn if current exceeds 8A/€I'6’GIFTGTT3TIT, Tfe YRT 8A QRHETE'QC

3. It will not work if current is less than 8A/Tg ®TH g BT IfG YRT8A A FH GS

4. It has resistance of 8 ohm/3ddT UfaRIY 8 3T §

Correct Answer :-
« It will burn if current exceeds 8A/Jg STd SIRNTI, TfE YRT 8A T TET G5

98) DIRECTIONS: In the following question, there are six parts marked S1, S6, P, Q, R and S.
The position of S1 and S6 are fixed. Some parts of the sentence have been jumbled up.
Rearrange these parts and choose the proper sequence from the given options.

S1. A lion was fast asleep in the jungle when a mouse started running all over him.

P. The lion laughed at that thought and walked away.

Q. The lion was angry that the mouse disturbed its sleep and was about to kill it with its paw.
R. Soon after that, the lion was trapped in a hunter’s net.

S. The mouse begged the lion to pardon it, saying it could be of help to it one day.

S6. The little mouse was passing by and saw the lion. It immediately tore the net with its
sharp teeth and rescued the lion.

1. PQRS
2. QSPR
3. RPQS
4. SPRQ

Correct Answer :-

99) Who invented Difference Engine? /fSH¥d $o9 &1 @iel faq #1?

1. John Von Neumann /Gﬁ:ra’r:rqfr:{



2. Blaise Pascal/ &IV UR&A
3. John Napier / st Ff9=<

4. Charles Babbage / 3T Sao

Correct Answer :-

o Charles Babbage / EIREEE]

100) A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it
for ¥3200. With the help of C, they completed the work in 3 days. How much is to be paid to

C?/ A 3T U B B 6 7§ HI qpar € MR B 3rdpan 8 RA A HIqPar 21 A 3R B as 3§ T 3200 #
F F T AR a1 ¢ B Age A 3 H1d Y 3 37 & I 3% 3 81 3 C B fba=n yrar= &1 ghm?

1.3600
2.3%800
3.%400

4.3375

Correct Answer :-

« 3400

Topic:- PCM

e = IE3 B
1) 1¢2 + 3 354 V2 are the roots of a fourth degree equation, then other roots will be:/3f& 2 + i¥ 3 ok V2 fpeft W
°Td & GHIGRUT & A g, a9 37 g i

12— 32

5 2 — 3,42
3 2+ 03,-42
4 2 —i/3,—42

Correct Answer :-

z+2
1_Z+1

3z+3
2. 4z + 4

3z+ 2
3.4z + 3

4z + 3
4_32+2

Correct Answer :-



3) In the set of rational numbers Q, operation * is defined as a * b = a + b —ab, then in the group [Q, *] the inverse of

;E Q i ufvir wRamait & e Q # wifrar * FaR WU &: a*b=a + b-abaa §YE [Q, *1 ¥ 2 © Qa1 yfew

a
s 1 —1
9 1 1
J pn ()dx =2, J pn (dx =2,
i1 then n is:/afg —1 dang:
1.0
2.2
3.-1
4.1

Correct Answer :-

-0

5) If charge on a parallel plate capacitoris q = qg sinmt then displacement current is: /afe qHiaR W HYTRE BT 3w q
= qo sin®" 79 T uT grft-

Qo
—cos wt
w

9o
——cos wt
w

—wgy cos wi
wgy cos wit

Correct Answer :-

, wdp cos wt

6) If ¢ is the gravitational potential function at a point, the intensity of gravitational field at that point is P, where:/afe

el fig W Toeta Rva vad ¢ §, auT o 87 Y dftgar F & @ aeh

1 E = curl @



7) Which of the following property is not required for a function d: XxX—=>R to be a metric for x, y, z € x /T W d:
XXX = Ragyx o1 gt 89 & R PrafifRa 3 & S wr o snfie 78 8: 7@ x, v, z e x F R

1.d(x,y) =0

2.d(x,y) + d(y,z) < d(x,z)
3.d(x,y) =0ex=y

4.d (x, ¥) =d (y, x)
Correct Answer :-

+ d(x,y) +d(y,2) = d(x,2)

Correct Answer :-

O



9) i
Graph between concentration of the product and time ofthe reaction A — B is of the type X !

time
Hence graph between —d[A]/dt and time will be of the type :/ aiffifsbar A— B W Saaral @) arsarsi

! iI \
Ak wwa & wen e Pt gar A ik gl @ 3rc: —d[A)dt 3y wwa & wen e fed

HHA

b bl BT ;

(—d[Al/dt) ‘

1 Time [ 344

\

(—d[A)/dt)
Time [ 3HY

(—d[Al/dt)

7

Ti He
3 ime | {HY

(—d[A]/dt) i
4,

Time | €43

Correct Answer :-

(—d[A)/dt)

Time [ THY

T U, L U,
Series1 =1  of positive terms is divergent by root test if: &Gl TEUT GRT, YFATHD yeiat gutn=1  3oard %,
afe:
Lim
1.7 e

U =1

Lim (Un}”":’:i

2.7 m

Lim g yim = 4

31’1—303

4. None of these/‘s’qﬁ@ﬁ%:@

Correct Answer :-

Lim 1/
USRS
11) a h g a h g
o b o o b o
The eigen values of the matrix A= ¢ 0 clare:/amagA=le o clFamEiAame

1. None of these/%‘!ﬁ@raﬁgqﬁ



2.a,h,g
3.0,b,0
4.0,0,C

Correct Answer :-
« None of these/39H ¥ &5 Ta!

—

12) the torque on a dipole of dipole moment ¥ in an electric field £ is:/Rreft fya ¥ fyya amgof P o1 freht Rigaa &= E &
TG W IA 99 3Tgui-

E

ol

1.

N
1l
*
ol

a1
[maF]

3.0 %

4, Zero/R[™

Correct Answer :-
P xE

13) B_ﬂ'z 8%z 8%z B_zz 8%z 8%z
The general solution of the differential equation °* %% Gy is: /3@ e O 8 dxdy
F1 ATHY (ATIP) T 8¢

L= ¢y —x) +xd; (v +x)

2 2= $1 (v —x) +y by (v +2x)
3 2= P -2 +xd, y—x)
4. None of these /ﬁﬁﬁﬁéqﬁ

Correct Answer :-

2= P (y—0+xd, v—x)

1) The displacement vector ﬁ, electric field E and polarization vector P are related as: /fawma Tfe=r ﬁ, fagaa &= E 3R
ydta wfem F & wer way B

1 D =gk —1DE+P

5 D =E+(P/K)

Bk

4 D =g E+P

Correct Answer :-
D =g,E+P

15) The critical angle for glass (=15 immersed in oil = l'13: /@ (=11 ﬁ@g‘t{?‘h (=15 ¥ fog wifas
P10 BT A I



1
11
o)
A UT
11
oo ()
;% sin 15
4. None of these/%qﬁ @ﬁéﬁ

Correct Answer :-
11

B = sin~?t [—)
c 15

16) ¥, +nh .
[ f@dx= o+ ya) + 2 01 +y2+ . +¥n-1)]
The formula %o is known as:/ A
¥, +nh
[ f0ddx= 2o+ ya)+2 (s +ya+ - +yns)]
X g &

1. Weddle's ruIe/é@Eﬁ?ﬁ

2. Trapezoidal formula/JHeat G

3. Simpson’s 3/8 rule/Rua &1 3/8 f1aH

4. Simpson’s one third formula/RAHTEH &1 & fags 9

Correct Answer :-

« Trapezoidal formula/?lﬂﬂ'@?ﬁ

=
17) If the magnitude of two vectors are 4 and 6 and the magnitude of their scalar product is 1% 2, what is the angle

Pﬁe;wg# the vectors?/Tf g WY &1 TR 4 3R 6 & 3R I SFRH ¥ TUFES B aRom 12V2 ¢ o afexi & fra B

1.8 = 45°
2.6 =60°
3.6=0°
4.8 = 30°

Correct Answer :-

18) Which is incorrect statement about geometrical isomers./SATTHCIT GHGAAE] & f%l'[{ P HYF T %I

1.
cl

Cl
U does't show G.|. because it has only 7 C atoms inring / G.I. waf¥a «1&1 &var #iife aqa A 7C
UYL R |

2. In cycloalkenes, G.I. exist across '=' with ring size equal to or greater than 8 carbon atom /HEH@W T Sy
THIGIEdT '=' TR 8 HIa URHTY] AT I 31 HTai-1 TRHTY areit aerd H gl §



3. In two geometrical isomers the distance between two particular groups at the ends of the restricted bond must be

changed/al ST gATGAAIAl § Ufaafid RRI &R & gU 99 & Te g ukafad g1 9mfee

4. Geometrical isomers can be separated by fractional distillation/SITTHCT THIGTAIA! BT UHTST STHIT gRT JYsh foar o
D1 &

Correct Answer :-

Cl cl
U does't show G.|. because ithas only 7 C atoms in ring / G.|. walRia =1&] & «ulfe dera 4 7C

O] 2 |

19) CANCELLED

232 232

52" undergoes successively eight © ~decays and six B- decay. What is the resulting nuclear?/ 52U JITmaR8 *
3R B vt o1 e g At T A drm?

1. zlsgph

Cl

202

2. szh

3. zggph

4, “22Pb

Correct Answer :-

210
. mxpb

20) CANCELLED

The De-Broglie wavelength of a charge ‘q’ and accelerated through a potential of V volt is:/ﬂﬁi’
AT q’ favaiar v & R afid 8, ¥ fore S-siveft avme e &1 a1 ghm:

1. Sinh2t

2. Cosh2t



3. cos2t
4. Sin2t

Correct Answer :-

e« Cosh2t

22) (EV2— E-V2) (1+ M)V2 =
1.9

2.V

3.A

4,

Correct Answer :-

. A

23) |(n) [(1-n) =2

1.B(1-n, 1+ n)

2.8(n, 1)

3.8 (n, 1-2n)

4.6 (n,1-n)

Correct Answer :-

+ B(n, 1-n)

24) jsec” xdx =

n—2

sec” “xtanx mn— 2

+ sec™ 2x dx
1 n—2 n—1 j

n—2

sec”  "x tanx n-—1

1 + > J.sec”_zx dx
2. n— n—

n—2

sec”  “x tanx mn—2

fsec"_‘x dx

3. n—1 n—1
sec™ Ixtanx n-—1 .
— R sec™ cx dx
4. - -

Correct Answer :-

n—2

sec”  "x tanx n—2

J.sec:”_zx dx

n—1 n—1

25) The molar mass of normal water is as compared to heavy water./mﬁlﬁﬁrﬁﬂ'\'

SHTE Y ST & AU B (% H)
1. 2% less/2% HH

2. 10% less/10% hH



3. 10% high/10% 3=
4. Zero % less/ YA % PH

Correct Answer :-

e 10% less/10% PH

26) The unit of self-inductance is:/ WIRP A PTHAED ¢
1. ohm™1/3fm-1

2. Ohm/37H

3. Henry/%qﬁ

4. Joule/v[dT

Correct Answer :-

« Henry/gi

27) The unit of magnetic field B is:/9a®1q &F B T S 3:
1. Weber/aa?

2. Weber/ meter/ d&v/ Hiex

3. Weber/meter3/ d&/Hc33
4. Weber/meter?/ dsR/Hlex2

Correct Answer :-

. Weber/meter?/ Jav/Hie2

28) A transformer is used with:/T® TRIGRR YT far AT g1
1. Direct current/T0t YRT

2. Alternative current/ﬂ?q'la'cﬁ‘EIRT

3. None of these/STH ¥ ®Ig gl

4. Either of the above two/3WRIGd I & 4 DI

Correct Answer :-

« Alternative current/ﬂﬂﬁ?ﬁ‘é{m

29) A hydrocarbon ‘X’ C;H,q is catalytically hydrogenated to C;H,4 'Y’. 'Y’ gives six
monochloro products after photochemical chlorination. On ozonolysis of 'X’, it gives smallest
aldehyde and 3-Oxohexanedial. The structure of 'X' is./U® §ISGIBIET ‘X’ C;Hy o IARBI

TSI Pd A C7Hy 4 'Y ST 21 Y’ BRRNANS wRIeu $ 918 B AiHlaaR! Sdre Sa1 81 "X’
SNSIHRU IR Y BleT UseTss 3R 3-MTaueIsSIEud T g1 'X' Pt |I=1 ghift

/"\\_,../-:"/




JANENPN

2.

19

4. All of these/ T g+t

Correct Answer :-

30) The total degree of all the vertices of a graph is:/U® 3@ & Tt il F Fife d1aT 8|
1. Equal to number of edges/YST3{f Bt AT & TRER

2. Half of the number of edges/YSIT3{l & TBAT BT 3T

3. Twice of the number of edges/YSTT3{l &I TBAT BT G

4. None of these/39H ¥ &Is gl

Correct Answer :-
« Twice of the number of edges/HGlTGﬁaﬁ‘v'i'@TW [UE]

31) Consider the following statements; /¥ $4A1 R faarR Fifmw;

S;: The [Co(ox)3]3' complex is diamagnetic and gains stability through chelation./

[Co(ox)3]3~ TPpd UAga®Id § a1 U8 PIASIHU F §RT RITRAIE gV HaT g

S,: The [Co(N02)6]4' is inner orbital complex involving dzsp3 hybridization and is

paramagnetic./ [Co(NO,)g]%~ IR H&id AHd 7, Rrad d2sp> THUT g1 8 a1 U8 T4 7
S3: The complex [PtCl,]2" is square planar and diamagnetic. / [PtCl,]2~ A%d a7 GUAAT quT
yfergraata wpfal @1 gia &1

and arrange in the order of true / false/ YT §8 I/ & HH H gafRId HIferg|

1I.FFT

22.TFT

33.TTF

4.TTT

Correct Answer :-

e TTT

32) The equation of continuity for the varying current distribution is:/URafdd «rT faarorag
fPraRar afieRur gl 81

, divB=0

2 divi=0



dp
divi=——
V] at

4 divE=0

Correct Answer :-

33) The equation of major axis of ellipse represented by 5x2 — 6xy + 5y2 = 8 is:/ 5x2 — 6xy +

5y2 = 8 gRI Fofa idge & S sref o1 wefiwxr 3:
I.x+y=0
2.Xx+y=5
3.x-y=5
4.x-y=0

Correct Answer :-

34) Which gas is formed when Ag,C, is allowed to react with dilute HCI?/ 91§ Ag,C, I aJ HCI &
1y Afpa far wrar & @ S A9 F97eht 82

1. Ethyne/ TUIgd
2. Methane/ B39
3. Ethene/ Q?ﬂ?
4. Ethane/ triFr

Correct Answer :-

o Ethyne/ TYIgd

35) The minimum number of elements required in an integral domain are:/@l{ﬂf&ﬂumﬁsﬁ'ﬂﬁ
P AT TR 8:

1.3
2.2
3.1

4.4

Correct Answer :-

o« 2

36) The following is not the electromagnetic wave: /% & 3 fagaa gaaig a1 g 31
1. Ultraviolet/TRTaT fasvot

2. X-rays/ X-favof

3. Cathode rays/aﬂﬁgﬁo—{@f



4. Infrared/3/aXad fH ol

Correct Answer :-

. Cathode rays/®Us faol

37) If p denotes probability of an event then/ g p wmaﬂmhwm%, GE
.o<p<l1

20<p<=<1

3.p=1

4p=0

Correct Answer :-

38) A photon of 300 nm is absorbed by a gas and then emits two photons. One photon has a
wavelength 496 nm then the wavelength of second photon in nm is:/ wﬁva?gm 300 nm %QEF
Wi S S forar irar @ iR fibe 98 A9, 3 Wielq &1 Idfid @dl 81 i TP Wieid 3t awresf 496 nm
?, 99 g WieH &1 aveef nm ¥ g1a S

1. 759
2. 959
3.859

4. 659

Correct Answer :-

e 759

39) If the mass of molecule of a gas in doubled and speed is halved, then what will be the ratio of
initial and final pressure?/afe fafl 719 & UAS 31V] BT soaW= SRAT 377 fa 3t w2 &Y o1 ot I uRfi®
3R 3ifaw g9 &1 SguTd g2

1.2:2
2.2:1
3.1:1

4.1:2

Correct Answer :-

« 2:1

40) Observe the following reaction:/ {53 sifuferar &1 e Hifsrg

-

6-
CH, ~G - CH, ~ C - CH HCN (excess) , _MO72 5 products. /

o 0
— e.-
CH._—{l;[\—CH’—{ﬁ_CH-} HCN {\iﬂm) H,OJ.ﬁl \\-‘!,1[.“[:

0O O



The correct statement is:/ Hﬁ?ﬁ?ﬁﬁl
1. The product is a mixture of four stereoisomers/3IdTe TR Afan FrTGTdl &1 firgor @

2. The product is a mixture of two chiral and one achiral stereoisomers/3dic ﬁﬁﬁﬁﬁﬂﬂﬁﬂﬁ@@
ffeye gaTTfaat 1 forgor §

3. The product is a mixture of two compounds/3dTG &l QDT BT A% §

4. The product is optically active/ IdTe UHIRIG IfhT §

Correct Answer :-

« The product is a mixture of two chiral and one achiral stereocisomers/3dIg ﬁﬁﬁﬁﬁﬂﬂﬁﬂﬁ@@
ffeye gaTGTfaat a1 forgor §

41) Steel is more elastic than rubber: /38X | STd SUTGT TR &
1. True/IA §

2. Both are equal/ﬁw%

3. False/TTad §

4. None of these/3T8 J HI3 gl

Correct Answer :-

o True/dd %

42) Integrating factor of the differential equation (1 + xy)y dx + (1-xy)x dy = 0 is:/3[d®d
“\‘I’lﬂT\"UT(I + xy)y dx + (1-xy)xdy = 0 WW'{[UTEF%

1
Zy

ra

=
2

4.

43) divgrad ¢ =
1 Ve

2.4

3.0

4.1

Correct Answer :-

. Vo



44) In a compound, oxide ions are arranged in cubic close packing arrangement. Cations A
occupy one-sixth of the tetrahedral voids and cations B occupy one-third of the octahedral
voids. The formula of the compound is./U® e forqd, sifaargs sy a-tg s Jgpad saawr d
a:afﬁam%l ¢TI A TIUFABTYI 5% BT 1/6 URT AT HUTAA B ATHAD (6% $T 1/3 URTERA g1 1 Afe w19
EGLE LN

1. ABO3
2. AB>0O3
3. A2B>0O»
4. ApBO3

Correct Answer :-

« ABO3

45) The whole length of the curve r = a cos8 is:/ds% r = a cos® aﬂmmﬁ'%

1. ma

4 2ma

Correct Answer :-

46) The point mass of 1.0 gm is rotating on a circle with diameter 8 cm. Its moment of inertia

will be:/ 1.0 I &1 fig Hr 8 At oIRT F gcd W TH 6T &, BT STScd STYUI 1T
1.16 gm x cm? / 16 ¥ x A2

2.8 gm x cm?2 / 8 U x THI2

3.2gm xcmz/zqﬂ:lx@'lﬂz

4.4 gm x cm? / 4 W x QA2

Correct Answer :-

« 16 gm x cm?/ 16 U x A2

47) Which of the following species is paramagnetic? /f4 & ¥ SRl yeifa SqgEa §2
1.NO™

2.CN™

3. 092"

4.CO

Correct Answer :-

« NO™



48) Which of the following equations is clairnat’s equation?/ frrefafad # @ 914 “FR! &1 gHte”
14

1Yy =px+f(c)
) ¥=x*+c

3. X=py +f(p)
4 Y =px+f(p)

Correct Answer :-

. y=px+f(p)

49) Which of the following statements is correct regarding the slag obtained during the
extraction of a metal like copper or iron? /R T TR UTg F fFAHur & SR U ergra & e g
B T HY A §?

1. The slag is heavier and has lower melting point than the metal/YTgHT YR BT § iR ﬂlﬂﬁwﬁm
HH I ©

2. The slag is heavier and has higher melting point than the metal/dTdHd ‘Hﬁ%ﬁ?ﬂ% 3R %r@ar?r@amﬁ
e e gial §

3. The slag is lighter and has lower melting point than the metal/ﬂ@ﬂﬁ%?tﬂ?l’d’[% 3R u@aﬁmﬁw
FH 1§

4. The slag is lighter and has higher melting point than the metal/WWEﬁﬁT% 3R maﬁwﬁw
31fres g &

Correct Answer :-

« The slag is lighter and has lower melting point than the metal/ﬂl@ﬂﬁwﬁm% 3R H@aﬁwﬁw
FHH BT §

50) Which of the following statement is correct for this reaction? /33 3ififrar & fed Fg A @
P HYF T gl

2C + O, — 2CO; AH = -220 kJ
(s) (9) (9

1. All of these are correct/Tft gt §

2. Heat of combustion of carbon is 110 kJ/&Te ! g4 ST 110 kJ §

3. Reaction is exothermic/fo\l@)'QT E@T?ﬁﬂ’[%

4. Reaction needs no initiation/ SfNfHaT 1 fpelt URYA B SHTa=THd 8! &

Correct Answer :-

« Reaction is exothermic/fo'I@?m Wm%

51) Which of the following polymerisation reaction can have branched polymers also./ fada

P sgawie Afufhar & Wi 9ga® -4 8|



0
Me—_CH-COOH — 5 wmme|-CH-C -0

| I
CH Me n
Puolylactic acid
1. {diefeds 37)
CH,OH CH,OH CH,OH CH,OH
q H O H H O H
H H H
OH OH H OH H
HO o o
H OH F CH
{polysaccharide)
5. (dierige)
O
A oH®  INH-(cH
i ! ———— et ( 2:’5 =
@]
Mylon-6 n
3. { A6 )

R
|
H,N - CH - COOH CH C NH

A polypeptide (0% HTWEE

4,
Correct Answer :-
CH,OH CH,CH CH,OH
H 0 H O H H O H
H H H
OH CH H OH H
HO | o o
H OH OH H GH
{polysaccharide)
(dTeirTEs)

52) Which of the following reaction is incorrect?/ g # & ®1==ft arffehar wera 82

CH3
|

CHg —C—-CHy —SU300°C, oy - CHy - CHg
| |l

CH,-CH,~OH —4390°C, o, _c-H
I
O

CH3 “CH“CHS Cu/300°C CH3 _?l_CHS
|
N OH O



CH3 CHj

CHs -C = CHy

|
CHz -C—CHa Cu/300°C

. o
Correct Answer :-
CH3
CHs —{|3—CH3 QWO o —cl:l—cH2 ~CHs
0

53) Which one of the following undergoes nucleophilic aromatic substitution at the fastest

rate?/f9 # @ o9 1 9iffe A1 A WAfed udtwura= sifufpar srafie dg nfa @ a1 82
Cl

Cl

Correct Answer :-

-

NO,



54) The value of the complete disjunction normal form of a Boolean function is:/@@?ﬂ'ﬂﬁ?%

gt fererira A= 9 &1 9 81
1.2"

2.0

3. None of these /378 4 s ol

4.1

Correct Answer :-

« 0

55) In adiabatic expansion, the internal energy of gas:/wmmaﬁwﬁvaﬂ 3raf® Sl
1. Remain constant/3fyifad gt §

2. Decrease/9gcdl §

3. Can be increase or decrease/9c U1 3¢ Jbdl &

4. Increase/a'c.!_cﬁ%

Correct Answer :-

. Decrease/9cdl §

56) The superset of a linearly dependent set is: /3f@®a: WRdx Y=g BT gy . f
1. Linearly Independent/3faed: Wda

2. Linearly Independent and dependent both/ YRge&d: WA 3R W gl

3. Linearly Dependent/ ¥f&&d: tRdd

4. None of these/3TH 4 ®1s g

Correct Answer :-

« Linearly Dependent/ ¥Rg&d: TR

57) The most stable carbocation is./f % & & ¥aifUe R U= 1

5 CHs
, (CH3z)3C

=

5 CH3 —CH3

=
, (CH3)2CH
Correct Answer :-

, (CH3)3C



58) The current which can be measured by an ammeter, are caIIed:/WGﬁmmmﬁﬂTﬂﬁﬁ

2, Earndi gl

1. Magnetization current/de®1d YRT
2. Bound current/sT® YRT

3. All of these/d It

4. Free current/Ydd YRT

Correct Answer :-

« Free current/Had YRT
59) Which of the following is mirror nuclei?/ﬁﬁﬁﬁﬁﬂmmﬁlﬁfﬁ?
1. 4Be” and 3Li7 / 4Be’ 3R 5Li7
2. 130and 20 / 13033? 0
3. €0 ,ng TN, 80 gz N
4. gC* and 7N15 /7 gCl4 Gﬁ?7N15

Correct Answer :-

« 4Be’ and 5Li7 / 4Be’ 3R 5Li7

60) Which of the following is not true for LASER?/ﬁWﬁ@ﬁHﬂTﬁW%ﬁI‘EWﬂﬁ%?
1. Extremely intense light/ 3 did THTRI

2. Perfectly monochromatic/q:UfWUffq

3. Divergent/av_vl'lﬁ

4. Coherent/&dl Jdg

Correct Answer :-
. Divergent/av_cl'lﬁ

61) Which of the following atom can be used as a p-type impurity?/ﬁ'ﬂﬁﬁﬁﬂﬁm p-cIgyu
Iz & fere IuahT 5 & wevd 82

1. Phosphorus/ww
2. Arsenic/&l'lﬁ%

3. Antimony/QEFTﬂ:ﬁ

4. Boron/aRI-

Correct Answer :-

« Boron/aRMF

62) Choose the correct formula:/Jg! 93 g=1:
1. 2]n ®) =Jay (B — Jags (®)



5. xp(x)=n], ®)+=x],4 )
ST =0T, ()X pes (9
4. Zn J:] [:X) =X []n+1 (Xj - ]n—l(x)]

Correct Answer :-

2]n (@) =Tasy ()= Jasr (0

63) The melting points of most of the solid substances increases with an increase of pressure

acting on them. However, ice melts at a temperature lower than its usual melting point, when
the pressure increases. This is because:/\?rrf\‘élﬁ'\faﬁ'ﬂWﬁ%ﬂmiﬁwmmﬁmﬁm%aﬁ%
1Y ged g1 fbr o, T 19 g1a ST ST € 39S ITHIR Ta-Hi® &1 ga-1 § $H 97 R aadt 81 3961 FRUI g1

1. Ice is not a true solid/d% I 319 T8l &
2. Ice is less denser than water/aﬂ?, mﬁwﬁmmw@m%
3. Pressure generates heat/mmmm%

4. The bonds break under pressure/ald & 3fid &% ged §

Correct Answer :-

. Ice is less denser than water/S%, Sid &1 o H HH U= arell gidT §

64) The correct IUPAC name of the following compound is. /% Qifir# &1 9g IUPAC T 31

-

1.2, 4, 5-Triethylnon-3-ene/2, 4, 5-@1%'@?1?\'17-{ =334

2. 5, 6-Diethyl-3-methyloct-4-ene/s, 6- STSURIA-3- ARYTNGE-4-37
3.5, 6-Diethyl-3-methyldec-4-ene/5, 6- STSUIT -3-AIASH -4-3
4.5, 6-Diethyl-8-methyldec-6-ene/5, 6- SBUIT -8- ARITASH -6-37

Correct Answer :-

« 5, 6-Diethyl-3-methyldec-4-ene/5, 6- SRUAT -3-ARITSH -4-37

65) In an isochoric process the increase in internal energy is:/ THATIAN® UHH H RS Holt &

CIEAE

1. Equal to the sum of the heat absorbed and work done/WﬁﬁWﬁﬁ%ﬁ@W%@ﬂ%W
2. Equal to the heat absorbed/ ST HT & SR

3. Equal to the heat evolved/wﬁhw%&m@

4. Equal to the work done/ {3 T &1 & RIR

Correct Answer :-

« Equal to the heat absorbed,/ AR AT & TRER



66) Bosons are: /S &-

1. Photon of electromagnetic radiation/fdgad da@g fafaur & wicH
2. Gas molecules/T & 3]

3. EIectrons/QﬁHEj':f

4. Neutrons inside the nucleus/ & & 3R &1 IS

Correct Answer :-

« Photon of electromagnetic radiation/fdgad daa g fafaur & wici

67) D" sin (ax+ b) =
1 a™ sin{ax + b+ w/2)

2 a®™ sin{ax + b)

3 ab™cos(ax + b)

4 a™sin{ax + b + n/2)

Correct Answer :-

, a"sin(ax + b +nm/2)

68) The second ionization enthalpies of elements are always higher than their first ionization

enthalpies because: / Tl $1 fgdla maa TARAT, 3791 wyw M= TAfRE F gea 3ife gidt § wife:
1. The cation is smaller than its parent atom / aﬂmmﬁ-@mﬁmﬁ@ﬁam%
2. It is easier to remove electron from cation / &TAF ¥ 3w IRAAYI® AT B el Sl bl §

3. Cation formed always have stable half-filled or completely filled valence shell electron configuration /

ffd oo o1, wea R o gfka a1 ol gRka Taoh i gaeeie A g g

4. Ionization is an endothermic process /WWE@WW%

Correct Answer :-

« The cation is smaller than its parent atom / 40 39 Ude TRHTY B! gaT # BT 8T §
69) Nicol prism is based on the phenomenon of:/f®a s &g gear w snutRa &
1. Refraction/&mﬁqw

2. Scattering/ﬁv_c‘lﬁw

3. Double refraction/gIgR 3Udd— UR

4. Reflection/TRTad TR

Correct Answer :-

« Double refraction/é 6? 3T R

70) A simple harmonic wave represented by following equation-/T® I¥d 3mad f &1 fafafaa
gHfiewor A welia foar wmar 3-

y = 10sin (10t - nfﬁ)



Its frequency will be-/3T®! 3Mgfa gift-

s
5

Aln

Correct Answer :-

]

o T

71) A Body possess a charge ‘q’ and starts moving with a velocity 0.8c now the charge on the body

becomes-/f&3d fUvs HT1 1AW q 8, TS fAUS 0.8¢c F AT A 7fd URY a1 8 ) I fUvs wR 3= &1 7 R
1. 0.8q

2.0.6q

3.q/2

4.q

Correct Answer :-

72) A tunnel diode cannot be used as:/@ﬁﬁﬂﬁﬁmﬂqﬁﬁm?l
1. An oscillator/Ud gId® &I dRg

2. An amplifier/@%%ﬁﬂ?‘s’

3. A rectifier/Us JHYD B TRE

4. A switch/Udb poil Bl IRg

Correct Answer :-

o A rectifier/Usd WW%‘TFWE{

73) A refrigerator works between 0°C and 80°C, its coefficient of performation will be:/8% U=fid® 0°C 3R

80°C & A HTI HdT ¢ | THPT BT IS fHa-T gHTI-
1.3.41
2.1.34
3.4.34

4.431

Correct Answer :-

. 341



74) Expansion of cosh x is:/cosh x PITAR &:

x
1 _ R
(Ltxd oo
x¥  xF
2x+§+§+
x?  x*
31+2!+Z+
L x?  x*
M TRTR

75) The building units of various crystalline forms of boron are: /IR 3 fafig frweeta = uif 91

STURYT TS &

1. Bg cubical units / Bg TTHR 3@H1sar

2. By, icosahedral units / By 3TS®NToSd SHIsAl
3. B4 tetrahedral units / B, IqYFA® T SHISAT

4. Bg octahedral units / Bg 3FHA®IT SHISAl

Correct Answer :-

« By, icosahedral units / By, TSP IAIeSd SHIAl

76) In a Boolean Algebra, a+1 = /ng'ﬁ'qiﬂ\_ﬂ'lﬁﬁﬁ atl =
1.0

2. None of these/STH I ®Ig gl

3.a

4.1

Correct Answer :-

77) If the number of variable in a non-homogeneous system of linear equations AX =B is n,
then the system has a unique solution if:/qﬁmﬁmﬁa?mmA X = B ¥ W &1 B
n 8, 99 95 g te sifgdia ga vaan g afe:

1.e(A) > e [A: B]

2.e(A) < e [A: B]

3. None of these / STH Y s !
4. e(A)=e[A:B]l=n

Correct Answer :-

« e(A)=e[A:B]=n



78) If S = c sec y, then curvature will be /afes = c sec y, a9 gpdr ghft |

1
1. ¢ cos y cot

2.csecy tan y
3. None of these/3H § BIs g
4.csec? ytan g

Correct Answer :-

1
e ©COS Y coty

79) The total momentum operator can be written as:/Wﬂ%‘T 3T (GEIGED) P forn o IPar 21

h d
1.1 o=

80) The real mass of an electro is mg. It is moving with velocity 0.8c. Its mass becomes: /f&dt

AT FT R FHAT m, 8, f T8 0.8¢ AT A Tfa=iia 8 oY S4BT soqw= ghm|
08

My

2. 1

sy

3

2
=

3.

4.0.8 Mg

Correct Answer :-

81) The clouds float in air because:/9Ted, 4T # a3d &, Hife:
1. A low pressure is developed there/ﬂﬁ@ﬂm?ﬁq:rm%

2. They are less viscous/d HH M 8d §

3. They are less dense/ IFHYIEA ©

4. They are at law temperature/éﬂﬂﬂﬂ%ﬁ%



Correct Answer :-

« They are less dense/ IPATIBIA S

82) The power gain of a transistor is maximum in: /iforeex @1 AfH gfS siftreaw gt 81
1. CB mode/CB Hifd &

2. Same in each mode/UA% Hifd & THH /A §

3. CE mode/CE 4ifa &

4. CC mode/CC Hifd #

Correct Answer :-

. CE mode/CE Hifa #

83) The product of moment of inertia and angular acceleration is equal to: /SS@ 3TYUl 3R HIVIY
WWWWW

1. Work done/?ﬂif
2. Force/dd

3. Torque/dd GiTq:Uf
4. Angular momentum/&Tofg FaT

Correct Answer :-
. Torque/@?ﬁﬂ‘i[ﬁ
84) The S.I. unit of Entropy is:/T<IU &1 S.I. U 3:
1. J/K / Sa/ b
2. Cal/gm / HaAR/aH
3. Cal/gm ©C / FaRY /9 OC
4. Cal/°C / H@R1/°C

Correct Answer :-

. J/K/ @/ b

85) The satellite of masses M and 9m are orbiting a planet in radium R. Their period of rotation
will be in the ratio of:/ 3! $3W IWIE o ST M 3R 9 m 3 TH U8 F TRI 3R R HB=a1 & vy = ufespan
B T2 §, 379 3 uRepw1 arall BT SrUTd gRT-

1.9:1
2.1:3
3.1:1

4. 3:1

Correct Answer :-



86) The efficiency of Carnot’s engine is: /@1 519 P G&dT 8:

Q2
1

=—=—1
1. Qi

87) The electric field at the centre of a uniformly charged conductor is: /THIH ARG IaF &

F= W fagua & w1 AM-

_9
dme,r?

qr
“‘lfll'[Eﬂ.R2

qr
‘lflTEE.RE

4, Zero/X[™

Correct Answer :-

88) The frequency of a mechanical wave in 256 Hz. What will be its wavelength when its speed is

512 m/s?/afe feaft Tifie a¥r &Y 3mgfy 256 3¢S B 3R IUS! 7fa 512 WA, § A IS avwe e ghfr?
1. 20 m/ 20 Hiex

2.02m/0.2 "I

3.2m/ 2R

4.200 m/200 Hie?

Correct Answer :-

. 2m/2HR

89) White precipitate of AgCl turns to greyish or black when:/ AgCl &1 A AT WA T HTeAT B
el 8 oS

1. Reacts with concentrated HCI /¥ig HCI %ETHWW%

2. Reacts with K,CrO, / K5CrO, & W1 fohal &= g
3. Reacts with Na3AsO,4 / Na3AsO, & I fomam ol §

4. Exposed to sunlight / gd & T&T=T & 3@ T



Correct Answer :-

« Exposed to sunlight / T & Y& § TG R

90) How many moles of KMnO,4 are needed to oxidise a mixture of 1 mole of each FeSO,4 &

FeC,0, in acidic medium:/ 3% ATAH # FeSO, TUT FeC,0, A & 1 Ui Ay & siicfipd oA &
fRIT KMo, & fam Hia smaza® §:

4
5

|

w e

4.

Correct Answer :-

91) The mean of a poisson distribution is:/ﬁ'ﬁmﬁ'mm%:
1. Equal to Variance/JYR0l & RIS

2. Greater than variance/J9R0l ¥ §&]

3. None of these/S78 9 ®Ig gl

4. Less than variance/U¥RUl § BIcT

Correct Answer :-

« Equal to Variance/J¥RUl & RIS

92) When 0.1 mole solid NaOH is added in 1 litre of 0.1 M NH3(aq) then which statement is
wrong? / 919 0.1 Wi 31 NaOH &1 0.1 M Sieitd NH3 & 1 diex | fHama ST 8, 99 S1H1 $Y Tad 872

(Kp = 2 x 1073, log 2 = 0.3)

1. In solution, [Na*] = 0.1 M, [NH5] = 0.1 M, [OH™] = 0.2 M/ fd@@a &, [Na*] = 0.1 M, [NH3] = 0.1 M,
[OH"]=0.2M

2. On addition of OH~, Kb of NH5 does not change/ OH™ & A ¥ NH5 & Kb & A § 13 URAdH el aidl &
3. Degree of dissociation of NH5 approaches to zero/ NH & fadioH &t THT TRTHT I 81 S §
4. Change in pH by adding NaOH would be 1.85/ NaOH @™ W pH & ufRad 1.85 8

Correct Answer :-

« In solution, [Na*] = 0.1 M, [NH3] = 0.1 M, [OH"] = 0.2 M/ fae= #, [Na*] = 0.1 M, [NH3] = 0.1 M,
[OH]=0.2M

93) Kirchhoff’s laws are applicable in:/f3a1® &1 faw Iuanf 2:



1. Both d.c. and a.c. circuits /&F d.c. 3R a.c. TRTY & forg
2. None of these/ST8 I ®Is gl

3. Only the d.c. circuits/®dd d.c. TRUY & fa@

4. Only the a.c. circuits/m a.c. WH%%{I

Correct Answer :-

« Both d.c. and a.c. circuits /@M d.c. 3R a.c. GRUY & forw

94) At what temperature, the average speed of gas molecules be double of that at

temperature, 27°C? /% 19 W 79 & 3fu[aff F1 3w i 27°C 19 IR 3id i F1 g ghbt
1. 3009C
2. 1200C
3. 1089C

4.927°C

Correct Answer :-
e« 9270C

95) For BF3 molecule which of the following will not be true?/ BF 30 ¥ fig e & & #wn srae

gl

1. It has less bond length than the compound [NH3 — BF3]/ $9%! &Y THTs, Aifie [NH; — BF3] 4 HH 8l ©
2. It has less bond length than BF,~/ 38! §¢ WHlTs BF,~ 30 d &H 8idl &

3. It's bond strength is increased because of £ ~ 4™ back bonding/3Hd! s WAL dadl 7, Fife gg £ — 4n

Uy §U BT §

4. It forms BF,,~ when hydrolysed in water/Jd 38 9@ ¥ 9Id 3U8fed #d §, @ BF,~ 3T ST 8

Correct Answer :-

. It's bond strength is increased because of 7™ ~ 47 back bonding/3%®! §¢ T Sed! 8, Fife ggH £ 4T

Uy §4 g1 ®

96) Molecular formula C3HgN represents:/ 3U[{A C3HgN weRia wear @
1. Only secondary amine/ %ad fgdidd THA

2. Two primary amine, one secondary amine and one tertiary amine/ &l Wdfii® THAT & fgdiae T aur

T qaiias THHA
3. Only primary amine/ %dd Ui THA
4. Three primary amine, two secondary amine and one tertiary amine/ o= UTufiie THiFT & fgdias TiF aur

T e THHA
Correct Answer :-

« Two primary amine, one secondary amine and one tertiary amine/ & TTYH® THHTY T fgdiae THIH auT

T dlas THA



97) The two forms of D-Glucopyranose obtained from solution of D-Glucose are known as:/ D-

HIE F [TT A U DTSR & & T Heamd 8-
1. Geometrical Isomers/ SATHIT FHGIA

2. Epimers/ THR

3. Enantiomers/Jfdfaa=dl

4. Anomers/ TR

Correct Answer :-

. Anomers/lFﬁ'ﬁR

98) A sample of mixture of A(g), B(g) and C(g) under equilibrium has a mean molecular
weight (observed) is 80. The equilibrium is./d’F R, A(3¥), B(I) a1 C (A) &7 frgor &1 fia
VYR (Nfera) 80 71 AR w31

Alg) =— B(g) + C(g)
(mol. wt. = 100) (mol. wt. = 60) (mo. wt. = 40)/

A = B(Mw) + Cc(w)
(37TR = 100) (IR = 60) (AR = 40)
Find the degree of dissociation a for A(g)./A P fIaS & 96T o Wﬂﬂﬁlﬂ-
1.05
2.0.75
3.0.8

4.0.25

Correct Answer :-

e 0.25

99) A moving electric charge produces:/WWﬁI’-‘tﬁﬁﬁ@'ﬂH 3T I~ HIT &:
1. Only magnetic field/%ad aH1 &

2. None of these/STH 9 ®Ig gl

3. Electric and magnetic field/ fagad 3iR gasig &=

4. Only the electric field/ad fagad &=

Correct Answer :-

. Electric and magnetic field/ fagad 3R Jueia &=

100) The relationship between phase velocity, group velocity and wavelength is:/maﬂ,ﬂ'{g

T 3R a1 ¢ F A Yy gaT gl



Correct Answer :-



